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All questions at® ~ '
E{] In qt,he begmmng“Oif es;t};
question, the numbet p

to be attempted are clearly
mentioned. _
iv) Marks allotted to the questions
are indicated against them. -
v) Start solving from the t
question and proceed to solve ti

the last one. -
vi) Do not waste your time OVET &
question you cannot solve.
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- 324{XA) 4
7 wAEeE [VI+sin2xdy F1 } b)  The value of
. - cos@ -sind _ sin@ cosg
1] s%nx+cosx+c Cﬁse[sise sgsle]-'-Slne[—cosG sin 6
11) SINX—CO0Sx+¢ is
iiify cosx-sinx+c ) 0 0 1 O
iv)] -SINX-cosx+c. 1 Y {0 Ojl 1 [G 1]
- 42y dy 2 i) |9 1| i) none of these
¥)  eehel FHE — =4 x4 —] Y '
dx dx 1
1 T & ¢} The value of integral
j 4 i) 3 _[«Jl+sin2xdx 1s
111) 2 IV] 1 1 ]-:l Sinx+C03x+C
SN S S 1) sinx-cosx+c
%) IR AT 5i-1 +2k IR i) cosx-sinx+c
A A A N . v - 8inx —
2743)+4k TF TW WA E, ) ) T}}I e Teosx e !
, € degree of the differentia]
1 A ? 2
B equation _Ei__!:.i =Y x4 E.y_ i
ij 3 i 4 dx? dx)
i) 6 iv) 0. 1 )4 i) 3
1. Attempt all the parts : m) 2 ) 1. 1
that the  function A
3 Suppose  that ! € Ifvectors 51-2.74 2R ang
f: R—> Ris defined by f(x)=x". 2’} 3*\, A
I+ :
Then fis each J+4k are Perpendicular to
_ other, then value of 3 ;
1) one-one onto o3 B S
M * 11
i} many-one onto : ) 6 ﬁ?] 3
i) one-one, but not onto ' 1
iv) neither one-one nor onto. 1 NAR420
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o fefefad wHt GO 6l & Hif

#) sin'l(sin%ﬁ)aﬂa@qﬂmﬁﬁml
1
@ @7 f: R > R 3§ YR & &
flx)=x2+2 & @ flas)yw T
T | o 1

T A A 3R B3 U 3F YHR § 5

P(A)=0-4, P(B)=0-8 3R

P(B/A)=0-6,d P(AuUB) I
HIfAT | | 1
) T y=Ae*+B ¥ gE#ud
Hghe! THIHOT T HifAU, 51 A, B
IR €I 1

x> 43, x#0

g) o ftx)—{ 170 % ferg

fe@msy foF 98 x= 0 W ¥ad Tl gl 1
Attempt all the parts :
a) Find the principal value of

=1 . Tn
— |. 1
Sin (Sln 2 J

b) Function f: R - R is such that
f(x)=x2+2, then find f71(18). 1
c) If A and B are two events such
that P(A)=0-4, P(B)=0-8 and
P(B/A)=0-6, then find P(AU B).
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d)

&)
Fi : l
INd  the gifferential €quatigy, |
related tq equation y = Ae* + B,

‘ghere A, B are constants.
how that for the function

. .

f(x)z-.{x +3, x#0
I, x=0

1S not continuous,

1

atx=0

WA 20~ 4ok 37 3743544k
& S 1 F0T 7 Fifw
xX+y<8

3x+5y 215

x20,y=20
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At.tempt all the parts :

/ 2
= cot™! Vit xT+1 , then find
a) Ify=co X
dy 5
the value of ar
; le between the vectors
b) Fmdﬂthe iﬂg a e )
2i-j+2k and 3i+3]+4k.
. Under the following restriction
) x+y=<8
3x+5y=15
20,y20,
ffnd the minimum value cg
" Z=x+3Y.

d Find the value of p if the lines
| 1-x _7y-14 _z-3

= and
3 2p 2
T-Tx_Y-5_ 6;2 are mutually
3 1
peré}endicu]ar to each other. 2
frfefaa |t @Il 1 86 I :

%) w A 4% fered
A e fewA <A ded E
A= O feramll AT S | SR
7 F ld%
) 9 e uedl § Waih T T
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i) 7 e T W ¢ olE
e T T A g 1+

®) jsm(x'a)dxmmﬁﬁﬁ?.w?lﬁ
Sin(x + a)

a W ¢ |
M) ww%wéﬂmmaﬁﬁﬂu
REEN o A VIS

d,=1-3j40h ¥ 2
% W f(x)=cos2x F B I
[on]ﬁﬁﬁ%mﬁwﬁaaﬁﬁm

2

Attempt all the parts :

a] In a class 40%
mathematics, 209
and 10% read both
and biology One

selected a4t random. Find the
pmbablhty that
1)

he reads mathematics, when

1t is known that he reads
biology

) he reads biology when it is
known that he reads
mathematicg 1+1

Find the value of IM

Sin(x + a)

4.

students read
read leng};
mathematicg

b) dx,

where q ig constant. 2
D654238
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) Find the area of that parallelogram
C

- A A A
whose diagonals are d =3i+2j-k
- A A A
andd2=i‘31+2k- . 2
' ' the
Verify Rolle’s theorem 1.‘01*
< function  f(x)=cos2x in the

interval [0,n]. 2

Frafefaad & @ fa2l d @od @t @

Ty
#) Tl cos-1§+cos'1%=8,ﬁm

2
2 .
HitAu fH x—z—%gcosewLy—:smzﬁ,
: a
a

32
5
@ fog Hieu ®
b b c¢ 3 3
gic c a = 3abc-a’ -b3 -c°.
c+a a b -

) mﬁﬁwfm
J‘ Jcot x de_ 5

1+ vyotx 4 .

q) %aaﬂﬁﬁﬁm%aﬁ?yﬂ o

xy=kwgﬂia§1mﬁ?ﬂ€%%5
Bk=1.
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¥

) %@Tevﬁ ?:{HQJHR].”(FJ,JFM

A

S
S. Attempt any five parts of the following -
3 1If cos™ -E + cos™! % =8, then prove
2 2
x° 2 0. Y .9
that ; 2 " an c056+—§2—-sm 0. 5
}zﬂ Prove that
a+b b ¢
btec ¢ q = 3abc - g —b3-c3.
¢c+a a b
nf2 —
¢)  Prove that I -———C-Q—t—)-c——dx =X
o 1+Jeotx 4
dl  If curve ¥y=x" and Xy=k cu
each other Perpendicularly, the
prove that 3k =1 :
D65438
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Find the shortest distance between

the lin€s |
A AN AN A
7 =(i+2j+k)+%(i-j+k) and
}’=(2?—~}’—f2)+u(2?+}+2£). 5
) Solve the differential equation
xfl_y_ =y- xcosz(i} S
dx X
- T 9 fo=el uw @uel @ &
&,
Il
@ feameu foF Fe
x-2, xz2
f()f.’]=lx—2|= —(x—Z},x(Q
x = 2 R FAT & W] HTHAA el &
S
@) JemEl fa gr e s g
e F Aefeiad SR & S
& IV -
x + 3y <60
x+yz210C
X2y
x20,y=20

Z=3x+9y® JFH #X S

" 5
[ 7 FINT |
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6. Attempt any fi

a)

12

gd x2+y2=4ﬁmmﬁ%
W 3R e 3@ oy = x T 3y
foR w7 #7 Qwe T4 I 5
TF 9ol F 5 o, 4 el AR 3 Wi
TR AR UH & 9K TH 3 TR Ty
ATH G TE S €, o A et 3
Wmﬁwmml 5
W;:Q?—}+E3ﬂ'{
3:3?+43—fcwmmqﬁm
W[sine}“ﬁﬁmﬁ?ql

1 X -1 .
S¢eC —-—Secl gecr !

Y€ parts of the following :
Show that the function

f(xl=lx—2\={ x-2, x22

-{x-2),x<?2

at x =2 i continuous but not
differentiable.
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Solve ﬂfle following  linear
mgrammmg problem by graphical
method, under the following

x20,y20

Find the minimum and maximum
values of Z=3x+9y. 5
Find the arca enclosed in the first

: 2 2
quadrant of circle x“+y“ =4 and
straight line y = x and axisof x. S
In a bag there are 5 red, 4 black
and 3 white balls. If one by one
three balls are taken out and not
again returned to the bag, then
find the probability that all the
three balls drawn are red. S

Find the perpendicular unit vector
- al fal al

on the vectors a=2i-j+k and

— M A o
b=3i+4 -k and find the sine of

the angle between them. 5

Solve the equation
1

-1 X ~1 - - -

Sec = —sec i=sec1b—sec a.
a b

5
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7. Treef 8 3 feh o ave B A PO
F)  Trefefien wrieor FEE
' 3x-2y+3z=8
2x+y-z=1
4x-3y+2z=4. ‘
! egg fafy @ gor i 8
Q) H%‘éﬁﬁ(z,—f)},(&‘*laﬂ?
| (k,ar)aﬁﬁgﬂméﬂtﬁﬁ
35 & Tohg @ @ k s T
T | 3
i) AR g =ieaje2k,
b=3i-2j+7k 3
¢ =21-j+ak, @ T BT
3 5 S s wkEt a #@W b

N
S eEEE X c.d =15 &I
5

7.  Attempt any one part of the following :
a) Solve the following system of
equations by matrix method :

3x-2y+3z=38
2x+y-z=1
4x-3y+2z=4. 8

b) i) If area of the triangle, whose
vertices are ( 2, -6), ( 5, 4) and
( k, 4) is 35 square unit, then
find the value of k. 3
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. N A
i) Hfa=1+4j+2k,

— A M A

b=31-2j+7k and

-3 J’\ A A

¢ =20~ j+4k, then find a
—

vector d which is

-3
perpendicular to vectors a

-3 - =
and b bothand ¢.d=15. 5
Frfan @ o T v AR

# [ _ X4 g e T AT
2 -5x+6

@ i) Hed x* F fofes m= ¥
I | 4
<o Al U TeE § R T F
o wF @ T PR A g Al
ﬁ'ﬁwaﬁwqﬁwﬁn@
3 @ T S &, @ 9 9
& 21 F wfade @ S 4
Attempt any one part of the following :

2
1 __i__ﬂ———dx
a) Fmd the value of IXQ ~Sx+ 6

[ Tvirn over
https://www.upboardonline.com

16
b) i Find the minimum vakue of
4

X
s
the function f 52 playing

i) From a pack
cards, two are drawii onc by

one. After drawing they are

ed to the pack
not retur?hen find the

again,

pgebabihty of both cards to be

betel. 4
et T wue g I :

%) Txg-dxwaﬁmaaﬁﬁmé?mﬁ

ﬁﬁaﬂa aTEe & @eEal § HF 9

I | 8
q)  HART FHETT o+ 2y = sinx
ATTE T T i | 8
Attempt any one part of the following :
b

a) Find the value of J'xgdx with the
f1

help of definite integral as the Limit

of a sum. hitps: www.upboardonline.com §

b) Find the general solution

of the diflerenual  equation :
dy .

rg+2y:sm.r. 8,
dx '
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